RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving FY 2014 Budgets for the Baboquivari District Administration/District Day, Artesia/Little Tucson Community, Fresnal Canyon Community, Choulic Community, Cold Fields Community, Topawa Community, and South Komelic Community)

RESOLUTION NO. 13-377

- 1		
1	WHEREAS,	at a regular session of the Tohono O'odham Legislative Council held on
2		September 19, 2013; and
3	WHEREAS,	Baboquivari District Representatives presented the FY 2014 Budgets for the
4		Baboquivari District Administration/District Day, Artesia Little Tucson
5		Community, Fresnal Canyon Community, Choulic Community, Cold Fields
6		Community, Topawa Community, South Komelic Community (see attached
7		budgets); and
8	WHEREAS,	per Resolution #13-265, Equal distribution to Districts; and
9	WHEREAS,	the Council has opted to split the distribution amount of \$1,144,609.60 with a
10		30%/70%; per Resolution No. 2013-B-87, Baboquivari District Administration
1		receives 30% in the amount of \$343,382.86, the 70% in the amount of \$801,226.74
2		to be divided by the six communities in the amount of \$133,537.79 per
3		community; and
4	WHEREAS,	FY 2014 Budget for Baboquivari District Administration, Fresnal Canyon
5		Community, Topawa Community will include carryovers as follows:
6		1. Baboquivari District Administration - FY 2008 to FY 2011 Carryovers
7		identified \$368,302.66, utilizing \$255,517,21, remaining balance of
8		\$112,785.45 to be used at a later date.
.9		2. Fresnal Canyon Community FY 2012 – Carryovers identified \$154,878.95
20		utilizing \$76,380.05, remaining balance of \$78,498.90 to be used at a later
21		date.
22		3. Topawa Community FY 2011 to FY 2012 - Carryovers identified
23		\$121,478.98, utilizing \$80,881.61, remaining balance of \$40,597.37 to be
24		used at a later date; and
25	WHEREAS,	after review and discussion the Tohono O'odham Legislative Council approves
26		the FY 2014 budgets for the Baboquivari District Administration/District Day,
27		Artesia/Little Tucson Community, Fresnal Canyon Community, Choulic
28		Community, Cold Fields Community, Topawa Community, South Komelic
29		Community in the amount of \$1,557,388.47.
0	NOW, THERI	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council reviewed,
1		discussed and approved the FY 2014 Budgets for the Baboquivari District
2		Administration/District Day, Artesia/Little Tucson Community, Fresnal Canyon
3		Community, Choulic Community, Cold Fields Community, Topawa Community,

RESOLUTION NO. 13-377 (Approving FY 2014 Budgets for the Baboquivari District Administration/District Day, Artesia/Little Tucson Community, Fresnal Canyon Community, Choulic Community, Cold Fields Community, Topawa Community, and South Komelic Community) Page 2 of 3
South Komelic Community in the amount of \$1,557,388.47 per Resolution #13-
265, including identified carryovers as stated above for Baboquivari District
Administration, Fresnal Canyon Community, Topawa Community.
BE IT FURTHER RESOLVED remaining carryovers in the amounts of \$112,785.45 for
Baboquivari District Administration \$78,498.90 for Fresnal Canyon Community
\$40,597.17 for Topawa Community to be used at a later date.
BE IT FINALLY RESOLVED that any modifications, amendments or changes in the amount of
funds shall be reviewed and approved by the Tohono O'odham Legislative
Council.
The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 19 TH day of <u>SEPTEMBER</u> , 2013 at a meeting at which a quorum was present with a vote of 2,946.5 FOR; <u>-0</u> - AGAINST; <u>-0</u> - NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1(d)(2)and(3) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat.984).
TOHONO O'ODHAM LEGISLATIVE COUNCIL
Timothy Joaquin, Legislative Chairman 24 day of Jestavie, 2013
ATTEST: Evonne Wilson, Legislative Secretary Aday of Statistic Secretary Aday of Statistic Secretary Aday of Statistic Secretary Aday of Statistic Secretary Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the Statistic Secretary pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
effective upon his approval or upon his faïlure to either approve or disapprove it within 48 hours of submittal.
TOHONO O'ODHAM LEGISLATIVE COUNCIL

Timothy Joaquin, Legislative Chairman

[] DISAPPROVED at	Community, and South Komelic Com Page 3 of 3	
NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the	[MAPPROVED	on the 35 day of September, 2
NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the	[] DISAPPROVED	at <u>9. D</u> o'clock, <u>A</u> .m.
Septembre, 2013, at O. H. o'clock, a.m.		Melefale M. Asmero / Kel Allingman NED NORRIS, JR., CHAIRMAN
Septembre, 2013, at O. H. o'clock, a.m.		25
annelles-	Returned to the Legislative Secre	tary on the <u> </u>
Evonne Wilson, Legislative Secretary	<i>SUMMINU</i> , 2013, a	it <u>(V. H.</u> o'clock, <u>V.</u> .m.
Evonne Wilson, Legislative Secretary	annelles?	
	Evonne Wilson, Legislative Secret	tary
	·	
	1	

ACTION: APPROVING FY 2014 BUDGETS FOR THE BABOQUIVARI DISTRICT ADMINISTRATION/DISTRICT DAY, ARTESIA/LITTLE TUCSON COMMUNITY, FRESNAL CANYON COMMUNITY, CHOULIC COMMUNITY, COLD

FIELDS COMMUNITY, TOPAWA COMMUNITY, AND SOUTH KOMELIC COMMUNITY

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILMAN VERNON SMITH

DATE: SEPTEMBER 19, 2013

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. LUCINDA ALLEN (Nicholas Jose)	112.1	Х			
224.2	2. MARY LOPEZ ()	112.1	X			
SELLS	1. ARTHUR WILSON (Kimberly Mull)	251.0	X			
502.0	2. BARBARA HAVIER	251.0	x			
SCHUK TOAK	1. FRANCES B. STEPHENS (Anthony J. Rios)	87.1	X			
174.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	x			
SAN XAVIER	1. HILARION CAMPUS	112.1	X			Х
224.2	2. ADAM ANDREWS (Rachel Vilson-Stoner)	112.1	x			
SAN LUCY	1. DIANA MANUEL	109.8	X			
219.6	(Gloria Ramirez) 2. JANA MONTANA ()	109.8	x			
PISINEMO	1. CHESTER ANTONE	105.3	х			Х
210.6	(Tony Murrietta) 2. EDWARD MANUEL, SR. ()	105.3	x			
HICKIWAN	1. LOUIS R. LOPEZ (Michelle Ortega)	98.45	X			
196.9	2. SANDRA ORTEGA (Manuel Osequeda, Jr.)	98.45	X			
HIA CED 19.6	1. LORRAINE EILER (Jolene Garcia)	9.8	X			
15.0	2. MICHAEL FLORES ()	9.8	X			
GU VO 241.0	1. GRACE MANUEL (Flovd Flores)	120.5	X			х
2 4 1.0	2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	X			
GUACHI	1. TIMOTHY L. JOAQUIN	128.65	X			
257.3	2. LORETTA LEWIS (Louis Johnson)	128.65	x			
CHUKUT KUK	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	X			
319.2	2. BILLMAN LOPEZ	159.6	x			
BABOQUIVARI	1. FRANCES MIGUEL	178.85	X			
357.7	(Roberta Harvey) 2. VERNON J. SMITH (Gloria Zazueta)	178.85	x			
	TOTAL	2,946.5	2,946.5	-0-	-0-	[03]